from visual import*

scene.y = 400 # move animation window down 400 pixels from top of screen

from visual.graph import *

track = box(pos=vector(0,-.05, 0), size=(1.0, 0.05, .10), color=color.cyan)

cart = box(pos=vector(-0.5,0,0), size=(0.1, 0.04, 0.06), color=color.orange)

cart.m = 0.80

cart.p = cart.m*vector(0.7,0.01,0)

cart.trail = curve(color=color.yellow)

deltat = 0.1

t = 0

mgraph = gcurve(color=color.cyan)

while t<3.5:

    cart.trail.append(pos=cart.pos)

    rate(100)

    Fnet = vector(-.32, 0, 0)

    cart.p = cart.p + Fnet*deltat

    print "t=",t,"cart.p",cart.p

    cart.pos = cart.pos + (cart.p/cart.m)*deltat

    t = t + deltat

    mgraph.plot( pos=(t, cart.p.x) )

t= 0 cart.p <0.528, 0.009, 0>

t= 0.1 cart.p <0.496, 0.01, 0>

t= 0.2 cart.p <0.464, 0.011, 0>

t= 0.3 cart.p <0.432, 0.012, 0>

t= 0.4 cart.p <0.4, 0.013, 0>

t= 0.5 cart.p <0.368, 0.014, 0>

t= 0.6 cart.p <0.336, 0.015, 0>

t= 0.7 cart.p <0.304, 0.016, 0>

t= 0.8 cart.p <0.272, 0.017, 0>

t= 0.9 cart.p <0.24, 0.018, 0>

t= 1.0 cart.p <0.208, 0.019, 0>

t= 1.1 cart.p <0.176, 0.02, 0>

t= 1.2 cart.p <0.144, 0.021, 0>

t= 1.3 cart.p <0.112, 0.022, 0>

t= 1.4 cart.p <0.08, 0.023, 0>

t= 1.5 cart.p <0.048, 0.024, 0>

t= 1.6 cart.p <0.016, 0.025, 0>

t= 1.7 cart.p <-0.016, 0.026, 0>

t= 1.8 cart.p <-0.048, 0.027, 0>

t= 1.9 cart.p <-0.08, 0.028, 0>

t= 2.0 cart.p <-0.112, 0.029, 0>

t= 2.1 cart.p <-0.144, 0.03, 0>

t= 2.2 cart.p <-0.176, 0.031, 0>

t= 2.3 cart.p <-0.208, 0.032, 0>

t= 2.4 cart.p <-0.24, 0.033, 0>

t= 2.5 cart.p <-0.272, 0.034, 0>

t= 2.6 cart.p <-0.304, 0.035, 0>

t= 2.7 cart.p <-0.336, 0.036, 0>

t= 2.8 cart.p <-0.368, 0.037, 0>

t= 2.9 cart.p <-0.4, 0.038, 0>

t= 3.0 cart.p <-0.432, 0.039, 0>

t= 3.1 cart.p <-0.464, 0.04, 0>

t= 3.2 cart.p <-0.496, 0.041, 0>

t= 3.3 cart.p <-0.528, 0.042, 0>

t= 3.4 cart.p <-0.56, 0.043, 0>

1. <.464, .01,0> - <.494, 0.011,0>= < -.032,0,0>

2. <-.32,0,0> * 0.1= <-0.032,0,0>

3. yes.

4. The y and z components are not changing because there is no force being applied in either the y or z direction. There is only force applied in the x direction. 

